NARFTYTL—2 X - KEiEH
4 KE&EFE
N/ &% RBIHDCF - 0/4 743+ JLHDCP
-KO/KOE HY

BRRATV1—)VIEEBERDEENHYFET DTS 7RIS,

q e 25—+ *&% x| w# |o| "R i
=R _ﬂg
25| K| 13:50|1FEA T EHIT LS P [BH 3| 2,100| 2,600|2f&-0-KO
20:30| AE RV I FrL D P |EHH 3| 2,300| 2,800/0-KO
26| K| 12:50|#pETOICEEME P |BH 3| 2,100[ 2,600(0-KO
20:30|HIGUCHIAY T P |EHH 3| 2,200| 2,200/0-KO
27| & | 1350|FIFBEERIT LS P |BH 3| 2,100 2,600{0-KO
20:30| RV ITFL D P |EHH 4 2,600| 3,100/0-KO
28| £ | 10:20|1RFEA S EFEIT LS P |HEH 3| 2,100| 2,600/0-KO
13.00|ZEZI7OF LoD P |EH 3| 2,100| 2,600/0-KO
15:00| FEFEF;ITOYR D P |EH 3| 2,100| 2,600/0-KO
20:30| B fal 71+ E FER TE &L P |&8 4| 2,800 0-FBAGHRIFG
29| B| 13:00| > T—AT7141 %)L P |EH 3| 2,000| 2500|0-&FE
| 20:30|A T4 ¥ )LO—FHF P |EH 3| 2,700( 3,200|0
30[ A | 1330|FEHMLTOFYLUD «FB8! |[r |BH 4| 2,700 3,200[0-KO
| 20:30|FFHFRFVIFLID P |EHH 3| 2,300] 2,800/]0:KO

OAE K&ETE
N/ &5 RIHDCF - 0/4 74+ JLHDCP
-KO/KOE HY
(CEA)
208 (8) (ZABEE T D=6, 13:00~ DY T—F T4 % LIEBRA HYET,

BBRERATV1—IVEEBRELGHBENHYET DT TREZSL,

B [@a| x5—+ x84 k| m# |o| "R i
=H _)‘E
1| K| 1350|ERLITOERIT LS P |BH 3| 2,100 2,600|2f-0-KO
20:30(UBC5 A E A Hl& P [(JBC 4 E| N
2| K| 1350[fREA S EEITED P |BH 3| 2,100[ 2,600(0-KO
20:30|8HIER AV ITFYL D P [BH 3| 2,300 2,800{0-KO
3| K| 13:00[774X—V)L—F—KE P |BH 3| 1,800 ERANVT
#| 20:00|HIGUCHIAYT <8 P |EH 3| 2,200[ 2200(0-KO
4| £ | 10:20|FBEA RS EBITERS P |BH 3| 2,100[ 2,600(0-KO
| 13:00|EHEFIOFrLID P |EH 3| 2,100[ 2,600(0-KO
15:00| B FEFIAYN D P [BH 3| 2,100 2,600{0-KO
20:30| FEFF R AV IFr LD P |BH 4| 2,600 3,100(0-KO
5| | 10:20[#tKEH<HL P |BH 3| 2,100[ 2,600[N-KO
| 1300/ RIEFHFTOFYLID <i¥8 P |EH 3| 2,500 3,000(0-KO
15:00( KIEFEFETAYN D <8 P |EH 3| 2,500 3,000(0-KO
17:00|E¥5—X170 P |7a170w | 3| 1,800 1,800|FR/\>T
20:30| A EEREBEFICF YLD (KSL) P |EH 4| 2,700 3,200(0-KO
6| B| 13:.00(H>T—F4T71 v P |EH 3| 2,000 2500(0-ZF%E
7| B| 1350|R>F—F7I72X—Y P |BH 3| 2,100 256000




20:30|REEA R STF LD P |BH 3| 2,300 2,800/0-KO

8| k| 13:50(E/mETOLTZITLS P |BEH 3| 2,100 2,600(2f&-0-KO

9| K| 13:50|fRBEAU T EZITLS P |BH 3| 2,100 2,600|2f-0-KO
20:30|3A-0—5#%F P |BEH 3| 2,700 3,200|N

10 K| 12:50|HpETOICEEIE P |BEH 3| 2,100 2,600{0-KO
20:30|HIGUCHIAw P |BH 3| 2,200 2,200/0-KO

11| £| 1350|FSITEEEZEIT LS P |BH 3| 2,100| 2,600/0-KO
20:30|ERAE <X TOAFvL D P |BH 4| 2,700 3,200/0-KO

12 £ | 10:20|=FANIRZYIERIF LS P |BH 3| 2,100 2,600/0-KO
1300|RASEEIOFvL oD P |BH 3| 2,100 2,600{0-KO
1500|RASEH IO D P |BH 3| 2,100 2,600{0-KO
21:00(ERZER Y ITF LD P |BH 3| 2,300 2,800|0-KO

13( B| 13:00|9>FT—F4T42 %Il P [BH 3| 2,000 2500|0-FE
20:30|{RBEA R STF LD P [BH 3| 2,300 2,800/0-KO

14| B| 1350|R>T—773X—> P |BH 3| 2,100 2.600(0
20:30| A A BV IF¥ LD P |BH 3| 2,300 2,800|0-KO

15[ K| 13:50|EBFLTOERIT LS P |BH 3[ 2,100 2,600[2-0-KO

16[ /K| 13:50|FBEA S ERITELS P |BH 3[ 2,100 2,600[2-0-KO
20:30( FEFFRAYITF LD P |BH 3| 2,300 2,800|0-KO

17| K| 12:50|HpETOICEEIE P |BH 3| 2,100/ 2,600/0-KO
20:30(HIGUCHIAY P |BH 3| 2,200 2,200{0-KO

18| & | 13:50|FSIFELEZIT LS P |BH 3| 2,100 2,600{0-KO
20:30|WAVER—F A2k P |BH 3| 2,500 3,000{N-KO

19| £ | 10:20|EERZVIEZRITFT LS P |BH 3| 2,100 2,600|0-KO
13.00| £ A FEBTOF YLD P |BH 3| 2,100 2,600|0-KO
1500|E A FEBTOYR D P |BH 3| 2,100 2,600|0-KO
17:00|E £ +—X190 P |7~190F | 3| 1,800 1,800|ZF/\>F
20:30|F)IIsAXX TOF v Lo <8 P |HEH 4 2,700| 3,200/0-KO

20| A 13 EVIRBEBYINT=O., o T—F T4 % VIEERAELYET,

21l A 1350|/>T—F7742X—> P |BH 3| 2,100 2.600(0
20:30|FANIRZYITF¥L D P |BH 3| 2,300/ 2,800/0-KO

22| k| 13:50(E=/mETOLTZITF LS P |BH 3[ 2,100 2,600[2-0-KO

23| K| 13:50[FBEA S ERIT LS P |BH 3| 2,100 2,600(2f&-0-KO
20:30| A R AV ITF¥ LT P |BH 3| 2,300/ 2,800/0-KO

24| K| 1250|&AETOICEEMNE P |BH 3| 2,100/ 2,600/0-KO
20:30|HIGUCHIAY P |BH 3| 2,200 2,200/0-KO

25| & 1350|FSFHEETITELS P |BH 3| 2,100 2,600{0-KO
20:30|AhFEERTOF LD <8 P |HH 4 2,700| 3,200/0-KO

26 | 10:20|EREI RSV ERITES P |BH 3| 2,100 2,600|0-KO
13:00|FEZ I TaFvL oD P |BH 3| 2,100/ 2,600/0-KO
15:00|&[FEITOIR D P |BH 3| 2,100/ 2,600/0-KO
20:30| A 5 b T FER EH; P |&E 3| 2,800 O T RA4G+HRBE1G

27{ B 13.00|H>T—7* T4 %)L P |BH 3| 2,000 2500(0-ZF#E
20:30|A 7«4 ¥ )LO—F#F P |BH 3| 2,700| 3,200(0

28| B| 1350|/>T—7F7I74X—> P |BH 3| 2,100 2.600(0
20:30|{RBEA RS TF YLD P [BH 3| 2,300 2,800/0-KO

29| k| 13:50(E=/mfETOLFZITF LS P |BH 3| 2,100 2,600[2f-0-KO

30| K| 13:50[FBEASERIT LS P |BH 3| 2,100 2,600[2F&-0-KO
20:30| B R 2V ITF ¥ LT P |BH 3| 2,300/ 2,800/0-KO

31| K| 1250|AETOICEEMNE P |BH 3| 2,100/ 2,600/0-KO
20:30|HIGUCHIAY P |BH 3| 2,200/ 2,200/0-KO




